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NOTE:Four possible answers A, B, C and D to each question are given. The choice which you think is

¥

, correct, fill that circle in front of that question with Marker or Pen ink. Cutting or filling two or
more circles will result in zero mark in that question.

ai. 15
1. The measure which determines the middle most observation in a data set is called:
(A) median (B) mode (C) mean (D) range
2. secBcotd js equal to: :
. | |
(A) sin® ‘ (B) cosb © o ®) w56
3. Right bisectors of the chord of a circle always pass through the: B
(A) radius (B) centre (C) diameter (D) circumference
4. Tangents drawn at the ends of diameter of a circle are to each other.
(A) parallel (B) perpendicular (C) non parallel (D) collinear
S. The semi circumference and the diameter of a circle both subtend a central angle of:
(A) 90° (B) 360° (C) 270° (D) 180°
6. Angle inscribed in semi circle is:
@A) ™ ®) 5 © 3 ® 7
7. How many common tangents can be drawn for two touching circles?
(&) 2 @4 ©3 D) s
8. The number of terms in a standard quadratic equation ax? + bx + ¢ = 0 is:
(A) 1 (B) 2 (C)3 (D) 4
9. Roots of the equation 4x* - 4x + 1 are:
(A) real, equal (B) real, unequal - (© imaginary (D) irrational
10. If a,P are the roots of 7x* —x + 4 = 0 then af is: '
: I % 7 , -4 4
- A) 35 ®B) 3 ©. = - )
11. Ina proportiona:b::c:d,band care called:
(A) extremes (B) means (C) third proportional (D) fourth proportional
u_v
12 ll‘-v-—w—k,then: » ;
(A) u=z wk? (B) u=vk? (C) uvt=k (D) u=vk
13. A fraction in which the degree of numerator is less than the degree of denominator is called:
(A) anequation - (B) an improper fraction (C) proper fraction (D) an identity
14, A set with no element is called: _
~ (A) subset (B) empty set (C) singleton set (D) super set
15. If number of elements in set A is 3 and in set B is 4, then number of elements in AXB is:

(A) 3 - (B) 4 T R (D) 12




Marks: 60 SUBJECTIVE TYPE (PART- 1) Time :2.10 Hours
02. Write short answers fo any SIX (6) questions: (6x2=12)
(i) Define radical equation.
¥ w 1 .
(i) Write in standard form: T + oo e 3
(iiiy Define synthetic division.

(iv) “Discuss the nature of the roots of the equation. x*+6x—1=0

(v) Find the discriminant of the equation. 9x*-30x +25=0

(vi) Evaluate: (l -w—-w? )7 (vii) What is meant by direct variation?
(viii) If 3(4x — S5y) = 2x — Ty, find the ratio x : y.

(ix) Find the fourth proportional of §, 8, 15.

Q3. Write short answers to any SIX (6) questions: ' (6x2=12)
: |
(i) Define a rational fraction. ‘ (i) Resolve into partial fractions vy
(iii) Define intersection of two sets. (iv) Find B, if: U= {1,2,3,....10} , B = {3,5,8}

(v) Findaandb,if: (a—4,b-2)=(2,1)
(vi) FindYxYif: Y={2,1,2}
~ (vii) Define Arithmetic Mean,
(viii) Find Harmonic Mean for the given data. 12,5,8,4
(ix) Find median: 82, 93, 86, 92,79
Q4. Write short answers to any SIX (6) questions: (6x2=12)
(i) What is meant by quadrantal angles? (ii) Convert 25°30' to decimal degrees.
(iii)) Find 6, when: £=4.5m ; r=2.5m (iv) What is meant by projection of a point?

(v) Define circle, (vi) » What is meant by length of a tangent?

(vii) Define sector of a circle. (viii) Define cyclic quadrilateral.

(ix) The length of the side of a regular pentagon is Scm, find its perimeter.

(PART - II)
Note: —Attempt any THREE questions. Question number 9 is compulsory. - (3x8=24)
Q5. (a) Solve the equation. Jx+3=3x-1 4
az 2
(b) 1f @, P are the roots of the equation 4x? - 5x + 6 = 0, then find the value of F o % 4

Jx’+8p’ _sz_pz _

1
Q6. (a) Using theorem of componendo-dividendo find the value of: \/x' +8p’ + Jx’ = OB 4
9 k> h
(b) Resolve into partial fractions:: (x=1)(x +2)° 4
Q7. (a) Verify that: (B—A)'=B'UA, if: U={1,234,....10}, A={1,3,5,7,9},B={1,4,7,10} 4
(b) Find variance. 9,9,8,8,9,8,9,18 4
Q8. (a) Prove that: (cotd+cosec@)(tan0 — sinb) =sect —-cosb 4

(b) Circumscribe a circle about a triangle ABC with sides AB =6cm, BC = 3cm and CA = 4cm. 4
Q9. Prove that a straight line drawn from the centre of a circle to bisect a chord (which is not a

diametre) is perpendicular to the chord. 8
(OR) Prove that the opposite angles of any quadrilateral inscribed in a circle are supplementary.




NOTE:Four possible answers A, B, C and D to each question are given. The choice which you think is

correct, fill-that circle in front of that question with Marker or Pen ink. Cutting or filling two or
more circles will result in zero mark in that guestion.

Qt. 15
1. The number of terms in given standard quadratic equation is: ax*+ bx +¢ =0
(A) 1 (B) 2 ©)3 D) 4
2. If @, B are the roots of equation, then a+p is: 3x*+5x-2=0
5 3 -5 )
(A) 3 ®B) 3 ©) =5 D) 75
2. Sum of cube roots of unity is:
(A) O (B) 1 : (C) -1 (D) 3
4. In a ratio a:b, a is called:
(A) relation (B) antecedent (C) consequent (D) third
5. The third proportional of x* and y? is:
X y! | y:
(A) y2 ' (B) x%y? © = O) Rery
x?+1
6. ““‘———"(x “D(x+2) is:
(A) a proper fraction  (B) animproper fraction (C) an identity (D) a constant term
7. A collection of well-defined distinct objects is called: .
(A) subset (B) power sel (C) set - (D) empty set
8. The different number of ways to describe a set is:
(A) 1 (B) 2 ©)3 (D) 4
9. A frequency polygonisa____ of many sides:
(A) closed figure (B) rectangle 2 (C) square (D) circle
10. 20° is equal to:
(A) 360 (B) 630' (C) 1200 (D) 3600'
11. Radii of a circle are:
(A) all equal (B) double of diameter  (C) all un-equal (D) half of any chord
12. A circle his only one :
- (A) secant (B) chord (C) diameter (D) centre
13. A 4cm long chord subtands a central angle of 60°, the radial segment of this circle is
(A) lem (B) 2¢m (C) 3cm (D) 4cm
14. A cricle passes through the vertices of right angled AABC with mAC = 3cm, mBC = 4em
and mZC = 90° radius: : '
(A) 1.5cm ke (B) 2.0cm (C) 2.5¢m (D) 3.5cm
15. The circumference of a circle is called:

(A) chord (B) segment (C) boundary (D) secant




Roll No.(in Figures): (in Words):

Marks: 60 SUBJECTIVE TYPE (PART-)) Time :2.10 Hours
Q2. Write short answers o any SIX (6) questions: (6x2=12)
(i) Define quadratic equation. (ii) Solve by factorization: 5x* = 15x

Q3.

Q4.

(iii) Find the discriminant of: 2x*-7x+1=0
(iv) Prove that the sum of the all cube roots of unity is zero.

/=3
2

(vi) Using synthetic division, show that (x-2) is the factor of, x* + x* - 7x +2

(vii) Define inverse variation.

(viii) Find the third proportional to 6 and 12.

(ix) Find x, if: 6:x::3:5

Write short answers to any SIX (6) questions: (6x2=12)

X} =x?+x+1
x?+5°

(v) Findw?ifi w=

(i) Define identity. : (i) change in proper fraction.

(iii) Define union of sets.

(iv) Find XUY and XNY if: X={1,4,79},Y = {2,4,5,9}

(v) Define into function.

(vi) Find the range and domain of "R" if: R = {(a,b), (b,a), (c,d), (d,¢)}

(vii) Define harmonic mean.

(viii) Find the median of the given data:' 1.9, 2.3, 2.5,2.7, 2.9, 3.1

(ix) Define variance and write its formula.

Write short answers 1o any SIX (6) questions: (6x2=12)

(i) Convert —7375 into degree. (i) Find "r", when: £=52cm , 0=45°

(iii) Write 47.36° into D°, M; and S" from.

(iv) Whether the triangle with sides 8cm, 15cm and 17cm is acute obtuse or rightangled?
(v) Define circle. (vi) Define secant line.

(vii)Define ¢ircumference of a circle. (viii)-Define circum-angle.

(ix) Define the inscribed circle.
(PART - II)

Note: Attempt any THREE questions. Question number 9 is compulsory. (3x8=24)

Q5.

Q6.

Q7.

Q9.

(a) Solve the equation by completing square method. X +17x+ 1_3 = )

(b) If «, B are the roots of the equation x2 — 7x + 9 = 0, form an equation whose roots are 2« and
2B. 4

2 2
(a) Solve by using theorem of componendo-dividendo Vxi+2+4Vx* -2 =2 4
. Ix2+2-x? -2

(b) Resolve Inlq partial fractions: m

(a) IfA={1,357,9},B={1,4,7,10} and U={1,2,3 ...,10} then prove that: (AU B)'=A'NB’
(b) Find standard deviation from the given data. 9, 3,8, 8,9, 8, 18

(a) Prove that: (cot0 + cosecO)(tand - sin@) = seco - cos0 _

(b) Inscribe a circle in an equilateral friangle ABC with each side of length Scm.

Prove that two chords of a circle are congruent then they will be equidistant from the cenire.

OB Ehds N

(OR) Prove that any two angles in the same segment of a circle are equal.



